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M= [1,040,214|166,709| 90,876 {181,219| 53,077 |322,307(217,098| 8,732 | 197

x| 125,981 ‘23’1?:,2)2 4,148 | 6,211 | 7,019 | 24,514 | 14,981 | 715 | 11
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MAH 24,370

cixi| 45.033 | 360 | 684 | 3,080 | 6,095 | 4,185 | 6,496 | 113 | 2
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= < MAOHA | oA o4 =3 ol = ol XMz |Hed
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T = CcO NO, SO, PM10
g = 52,307 125,981 57,312 5,312
g A 37 24,183 16,489 1,431
st 16,996 7,831 525
SICHMIA 5,209 6,295 772
FHSFEME 8 55
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MAE | oy | 2o
a4 28,073 | 22195 | 13717 6,568
19,087 | 16,169 | 9,923
A 5 5 5
SIS (68%) | (64.3%) | (72.3%) gL
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O Al Z e}
O AIE_II-I E_.“ AI.
8% 05} 9-26% 277 0|4t
T E (%) (B AEYA) (Z221E=)
o % o % o %
& Al 89 18.5 281 58.3 112 23.2
SHEIMET A 16 24.2 28 42.4 22 33.3
ERQHIEXIA 7 10.0 42 60.0 21 30.0
B 17 18.1 56 59.6 21 22.3
MELTA 14 25.5 30 54.6 11 20.0
TREE 14 12.2 73 63.5 28 24.4
MAM S 515 21 25.6 52 63.4 9 11.0
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sz 29|
TE , , , NHANES | GerES X
05| " 07 1 708 iz | (su
%, (uo/dL) 266 | 1.72 | 1.98 1.56 3.07 | WHO 10
22 (ug/L) 4.34 | 3.80 | 3.00 0.83 0.58 | WHO 1~8
OH
- 2 Zk(.g/dL) - 1.18 1.06 - - WHO 2.0
=2 (u/g cr) . (g'gg)* 0.76 | 0.26 &ﬁf) WHO 2.0
A | H|2(u/g cr)* - - 53.4 - WHO 1~80
wy | 1-OHP (/g cr) - - 0.14 - »
2-Nap(.g/g cr) - 6.46 4.04 2.48 -
FE|L (/g cr) - 24.91 | 31.99 = 2
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LF/HF* SDNN**
T <1.8 1.8-2.8 >2.8 (EH?] ms)
= % = % = % Hx | #EER
SRR 50 86.2 3 5.2 5 8.6 | 23.34 13.63
EjOHZia 54 771 7 10.0 9 12.9 | 33.86 28.72
HEuxs 70 74.5 14 14.9 10 10.6 | 26.82 17.17
Az 49 89.1 2 3.6 4 7.3 | 30.07 13.37
(= $ S - 84 75.0 11 9.8 17 15.2 | 30.83 22.17
MM golst | 67 81.7 7 8.5 8 9.8 | 34.27 28.95
* : LF/HF (low cutoff frequency/high cutoff frequency : 1WzZt/FuzZt EME)
«+ : SDNN(standard deviation df NN interval : §AHS?ZE A|Ze] EEEIX})
< SDNN E=10]| 718 E2 X492 Tlazs
< LF/HF 2} 2.8 O|AtX}7} 7|-’§ o2 X2 SEINEA(17Y, 15.2%)
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